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F�（犈１％１ｃｍ５００ｎｍ±１０ｎｍ） ≥ ２５．０ ��Ａ�Ａ．３

ｐＨ ７．５±０．５ ��Ａ�Ａ．４

XY��，狑／％ ≤ ７．０ ��Ａ�Ａ．５

�（Ａｓ）／（ｍｇ／ｋｇ） ≤ ２．０ ＧＢ５００９．７６

�（Ｐｂ）／（ｍｇ／ｋｇ） ≤ ３．０ ＧＢ５００９．７５



犌犅１８８６．３２—２０１５

３　　　　

L　M　犃

NOPQ

犃．１　RSTU

!"#�A�*�L�� ¡¢£¤2p¥，¦�§¨©�*�ＧＢ／Ｔ６６８２uv\]ªL。�z
��A"#PQ、«l¬vA"#PQ、Z*�Z'，�� ¡¢£¤2p¥¦g ＧＢ／Ｔ６０１、ＧＢ／Ｔ
６０２、ＧＢ／Ｔ６０３­uvZ®。�z��APQ�¯¡¢A°±P*²Z¥，¦�LPQ。

犃．２　VWXO

犃．２．１　YZ[

PBL³NOLPQ，́ PBµ¶·�]¸¹º。

犃．２．２　\]

０．１％LPQ�»¥;-HF¼¢PQ，LPQ½»¥;�-HF¼¢PQ。

犃．２．３　^\_`

�１％��\LPQ¾¿，ÀBÁÂÃ，XYT�BÄÅÆ�，�ÇÈ3ÉÊ`F，ËÌ�EÍ�6
��，Î `ÏFÐ�。

犃．２．４　abcde

�１ｇ��，ALvÑÒ１００ｍＬ，Ó��Ô１ｍＬ，ÕALvÑÒ１００ｍＬ，ÖPQ�×Ø５００ｎｍ±
１０ｎｍÙ ÚÛÜÝÞ。

犃．２．５　fgh

犃．２．５．１　ij<kl

犃．２．５．１．１　ß¨à。

犃．２．５．１．２　áâã。

犃．２．５．１．３　ÁÂ：１５ｃｍ×７ｃｍ。

犃．２．５．２　X-<mn

犃．２．５．２．１　äåO。

犃．２．５．２．２　æNç。

犃．２．５．２．３　èé*：äåO∶æNç∶L＝４∶ｌ∶５（êë0）。ì]í)îÒ§Qïð�，ñ§òó，ô
�２４ｈCÃ。�Ãßõ;èé*。6öLß÷îÒøùúûü�，÷îß¨àõ;ýþQ。

犃．２．５．３　7hop

ìèé*Ãß)îÒÛÿ!"�，#èé*6ßLQ)îÒúûü�，$í¦ý÷Òß¨à%ö。
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犪
……………………（Ａ．１）
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犫２

犪
……………………（Ａ．２）

　　L�：

犫１ ———JÇÒGøH§Ç�O,P，QE;RS（ｃｍ）；

犪 ———JÇÒèé*CD,P，QE;RS（ｃｍ）；

犫２ ———JÇÒG$H§Ç�O,P，QE;RS（ｃｍ）。

犃．２．５．５　tuv:q

犚犳１q;０．９±０．０５；

犚犳２q;０．５±０．０５。

犃．３　 \w（犈１％１犮犿５００狀犿±１０狀犿）xyU
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T6¬v��PQ�Uv×ØÙ\Ü�<VtW��\©<。
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#X8���１ｇ（#XÒ０．０００２ｇ），ALPY，�B１００ｍＬÑmZ�vÑ，ó[；Ó��Ô

１ｍＬ，ALvÑÒ１００ｍＬÑmZ�，ó[。�ÖPQ�B１ｃｍ0F"�，�×Ø５００ｎｍ±１０ｎｍÙ
¬vÜ�<。��PQ\V<q'¬Ô\Ü�<�０．２～０．７\]:;Ú^，_��PQ\Ü�<ÛB

０．７¥，̀ ALìPQMab@_\V<，�T¬v。

犃．３．４　:qrs

F�犈１％１ｃｍ（５００ｎｍ±１０ｎｍ），gL（Ａ．３）MN：

犈１％１ｃｍ（５００ｎｍ±１０ｎｍ）＝
犃×狀

犿
×
１

１００
……………………（Ａ．３）

　　L�：

犃 ———MaT��PQ\Ü�<；　
狀 ———Macd；

犿 ———��\lm，QE;e（ｇ）。
�zfgCý>¬vfg\Nhý¦J;#。��8»1=6i[\j9kË¬vfg\ljm
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J´ÛBNhý¦J\２％。

犃．４　狆犎xyU

8�+,-Fn��１．０ｇ，A$ªLPYT，�B１００ｍＬÑmZ�，A$ªLvÑ，Aç<M¬
vｐＨ。

犃．５　{|}~xyU

犃．５．１　PQzB

�uv;<6，ì��oXbp�，�T¬v��q¾\lm。

犃．５．２　ij<kl

8mZ，34５ｃｍ，+３ｃｍ。

犃．５．３　7hop

8���２ｇ（rXb０．０００２ｇ），�Bs�１０５℃±２℃obp�\8mZ�，÷î１０５℃±２℃
ot�，obp�。
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XY��\lm§d狑１，gL（Ａ．４）MN：

狑１＝
犿１－犿２

犿０

×１００％ ……………………（Ａ．４）

　　L�：

犿１———8mZ���XYC\lm，QE;e（ｇ）；

犿２———8mZ���XYT\lm，QE;e（ｇ）；

犿０———��\lm，QE;e（ｇ）。
j9ý>¬vfg­m´ÛB０．２％，�£Nhý¦J;¬vfg（rXbúdÇTøE）。




